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15 4,5, C and D are four points on the circumference of  circle.

>

AEC and BED ae sright lnes.

Prove thot wisngle 4B and wiangle DCE st similac.
Vou must give ressons fo cach siage of your working.

(Total for Question 15 i 3 marks)
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In the diagram, 45, BC and CD are thee sides of a egular polygon P.

‘Sthow that polygon P i a hexagon.
You must how your working.

(Total for Question § is 4 marks)
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(98 and PT e g 0 e cicle.
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Prove tha he anles o wingle APC e the sme s the ngles of iangl CP.

(Total 3 marks)
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16 Bethany says that (2x)2 s always greater than or equal to 2x.

Decide whether she is correct or not.
‘Show your working to justify your decision.
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18 intheformua T=(1-67+1 nisapositve integer.

18 (@) Kmsays,
“The value of Tis aiways reater than 1
because (1 - 67 i avays greater than 0"
o on her satoment.
{1 markg

18 (B) Whatis the only value of Tthat is a square number?
11 mark]
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13 Given that n can be any integer such that n > 1, prove that 1* =1 is never an odd number.

(Total for Question 13 is 2 marks)
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43,2 and P ar o points o e with cene O
470, Rand Care four pois o it el
Tt crcls et s th poits 4 3nd 2.
CPA, A8 and40B e ssigh i,

Prove e sngle 43 sl 45C.

(Totalfor Question 21 i 4 marks)
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12 Prove that the square of an odd number is always | more than a multiple of 4

(Tota for Question 12 s 4 marks)
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Dyl was sked 10 givesome possible vluesfor  and

Hesid,
“ could be 200 andx could b 110, because 200 -

® 1 Dylancomec?
o st give 3 reson oryouramswer:

(Total for Question 13 is 4 marks)
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19 A triangle bas vertices P, Q and R.

The coondinstes of 2 e (3, )
The oot of Qv (1,
The codinaesof 31 5,2)

s the midpint of 20.
is e midpoin of R

Prove thet M0V palll 0 72
ou st show cach sageofyou working.

(Total for Question 19 is 4 marks)
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21 4BCD is  quadiateral.

4 )

az=co.
Sagle 150 = angle 5CD.

Prove that 4C=5D.

Cota for Question 21 is 4 marks)





